Algorithme de Peterson

L’algorithme est le suivant :

avec, pour P, et pour B,

T M Ditisme SED



repéter

< section restante> R,
D, :=vrai, A
Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,
< sectioncritique > C,
D, := faux; S,

jusqu'a faux;






répéter

Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,

< sectioncritique > C,
D, := faux; S,

jusqu'a faux;
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répéter

tantque (D, et Tour = 2) fairerien;  E,

< sectioncritique > C,

D, := faux; S,
jusqu'a faux;
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répéter

< sectioncritique > C,
D, := faux;
jusqu'a faux;
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répéter

D, := faux; S,
jusqu'a faux;
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répéter

jusqu'a faux;
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‘ D, = faux
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repéter

< section restante> R,
D, :=vrai, A
Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,
< sectioncritique > C,
D, := faux; S,

jusqu'a faux;
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repéter

< sectionrestante> R,
D, :=vral,; A
Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,
< sectioncritique > C,
D, := faux; S,

jusqu'a faux;
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repéter

< sectionrestante> R,
D, :=vrai, A
Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,
< sectioncritique > C,
D, := faux; S,

jusqu'a faux;
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repéter

< sectionrestante> R,
D, :=vrai; A
Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,

< sectioncritique > C,
D, := faux; S,

jusqu'a faux;
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repéter

< sectionrestante> R,
D, :=vrai, A
Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,
< sectioncritique > C,
D, := faux; S,

jusqu'a faux;
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repéter

< sectionrestante> R,

D, :=vrai, A
Tour:=2; T,
tantque (D, et Tour = 2) fairerien;  E,
< sectioncritique > C,

D, == faux; S

jusqu'a faux;
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